Q

Observed Uniform Quantiles

@]

Observed Uniform Quantiles

0.6 0.8 1.0

0.4

0.2

0.0

0.6 0.8 1.0

0.4

0.2

0.0

= tweeDEseq
edgeR - (default)
edgeR - Dfl1

0.8 1.0

Expected Uniform Quantiles

= DESeq - PgOn
DESeq - Pmax

0.8 1.0

Expected Uniform Quantiles

o

1.0

Observed Uniform Quantiles

o

1.0

Observed Uniform Quantiles

0.2 0.4 0.6 0.8

0.0

0.2 0.4 0.6 0.8

0.0

= edgeR — QLF (default)
= edgeR - QLF Dfl1

0.0 0.2 0.4 0.6 0.8 1.0
Expected Uniform Quantiles
= DESeq - CgOn
DESeq — Cmax
,| | | | | |
0.0 0.2 0.4 0.6 0.8 1.0

Expected Uniform Quantiles



